SIPRIQOIRYT

2 PM
<

- -

TOOL DISCS &
TOOL HOLDERS

FOR CNC TURNING CENTERS & TURN MILL CENTERS

Y
e e
#
e o
!-.
e ° ©
e

August 2013



TOOL DISCS S@W@@WH

FEATURES

e Available in VDI type & Slotted type models.

e Available in 8 & 12 Station as our standard.

e Made out of Forged, Medium Carbon Steel & Toughened to 20+2 HRC.

e Finish machining on precision machining centers to ensure accuracies.

e Suitable for fitment on both flat and slant bed CNC lathes.

e Available in Right version (Rear Mounting) & Left version (Front Mounting).
e Suitable for fitment on Pragati, Duplomatic, Sauter & Baruffaldi turrets.

e Customised design can be supplied upon request.

e Inch series discin slotted models are available upon request.

TOOL DISC MOUNTING POSITION

REAR (RIGHT)
Mounting Disc

FRONT (LEFT)
Mounting Disc

1 Technical Information



TOOL DISCS S@W

VDI TOOL DISCS - STATIC TOOLS

8-STATION

[m]
S

FRONT ‘ REAR

i (LEFT) == (RIGHT)

OFFSET DISC
CODE OA OB C @D ~QE OF OG Y TURRET TYPE

TD-VDI-S-50-8-16-160 16 | 160 | 34 | 205 | 230 | 25 | 70 | - |l omaioBSYALGO
TD-VDI-S-50-8-20-140 20 | 140 | 42 | 185 | 235 | 25 | 70 | - | Baruffaldi- TOE-100, Sauter 05-480-510

TD-VDI-S-63-8-20-200 20 | 200 | 42 | 245 294 | 30 @ 90 | -

TD-VDI-S-63-8-20-200-17 20 | 200 | 42 | 245 | 292 | 30 90 17
TD-VDI-S-63-8-20-209-12 20 | 209 | 42 | 264 H 303 | 30 90 12

TD-VDI-S-63-8-20-240 20 | 240 | 42 | 295 | 332 30 @ 90 | - PRAGATI BTP-63
TD-VDI-S-63-8-20-240-17 | 20 | 240 | 42 | 295 | 331 | 30 | 90 | 17 g:f:‘f’f;glt'cfsé’:“zg A
TD-VDI-S-63-8-30-190 30 | 190 | 57 | 250 | 300 30 | 90 | - S g
TD-VDI-S-63-8-30-200 30 | 200 57 | 260 310 | 30 | 90 | -

TD-VDI-S-63-8-30-200-15 | 30 | 200 | 57 | 260 | 308 | 30 | 90 | 15

TD-VDI-S-63-8-30-220 30 | 220 57 | 280 330 30 | 90 | -

TD-VDI-S-80-8-30-210 30 | 210 57 | 280 310 @ 40 | 120 -

TD-VDI-S-80-8-30-210-25 | 30 | 210 | 57 | 280 | 308 & 40 | 120 | 25

TD-VDI-S-80-8-30-240 30 240 57 310 | 350 40 120 - PRAGATI BTP-80
TD-VDI-S-80-8-30-240-25 | 30 | 240 @ 57 | 310 | 348 @ 40 | 120 25 Duplomatic-BSV-N-160
TD-VDI-S-80-8-30-270 30 | 270 | 57 | 340 | 380 @ 40 | 120 - Baruffaldi - TOE-160
TD-VDI-S-80-8-30-270-25 | 30 | 270 | 57 | 340 | 378 | 40 | 120 | 25 Sauter 05-480-516
TD-VDI-S-80-8-40-245 40 | 245 | 65 | 310 380 @ 40 | 120 -

TD-VDI-S-80-8-40-245-25 | 40 | 245 65 | 315 | 378 @ 40 | 120 | 25

TD-VDI-S-100-8-40-272 40 | 272 | 65 | 340 407 @ 50 | 145 -

TD-VDI-S-100-8-40-272-32 | 40 | 272 | 65 | 340 | 405 | 50 | 145 32

TD-VDI-S-100-8-40-275-25 | 40 | 275 | 65 | 345 | 408 @ 50 | 145 | 25 PRAGATI BTP-100
Duplomatic-BSV-N-200

TD-VDI-S-100-8-40-290 40 290 | 65 | 370 | 425 @ 50 145 - .

Baruffaldi - TOE-200
TD-VDI-S-100-8-40-290-32 | 40 | 290 | 65 | 370 | 422 | 50 | 145 | 32 |  gSauter 05.-480-520
TD-VDI-S-100-8-40-340 40 | 340 | 65 | 410 | 475 | 50 145 -
TD-VDI-S-100-8-40-340-32 | 40 | 340 | 65 | 410 | 473 @ 50 145 | 32
TD-VDI-S-125-8-50-340 50 | 340 | 80 | 420 | 495 | 63 | 182 | - T BT
TD-VDI-S-125-8-50-340-35 50 | 340 | 80 | 420 | 492 63 182 | 35 Duplomatic-BSV-N-250
TD-VDI-S-125-8-50-400 50 | 400 | 80 | 480 | 564 @ 63 182 - Baruffaldi - TOE-250
TD-VDI-5-125-8-50-400-35 | 50 | 400 | 80 | 480 | 561 63 | 182 | 35 Sauter 05-480-525
TD-VDI-S-160-8-60-460 60 | 460 @ 96 | 560 | 649 | 80 | 220 - PRAGATI BTP-160, Duplomatic-BSV-N-320

TD-VDI-S-160-8-60-460-40 | 60 | 460 | 96 | 560 @ 645 80 | 220 | 40 | Baruffaldi-TOE-320, Sauter 05-480-532

Technical Information 2



TOOL DISCS

VDI TOOL DISCS - STATIC TOOLS

12-STATION C
[==]
D]
=
o
1D
]
OFFSET DISC
CODE OA @B C @D ~@E OF @G Y TURRET TYPE
PRAGATI BTP-50
- Dupl tic-BSV-N-100
TD-VDI-S-50-12-16-160 16 | 160 | 34 | 205 230 25 | 70 EU e e kit
Sauter 05-480-510
TD-VDI-S-63-12-20-200 20 | 200 42 250292 30 90 | -

TD-VDI-S-63-12-20-200-17 20 | 200 | 42 | 250|290 | 30 | 90 17 | PRAGATI BTP-63

Duplomatic-BSV-N-120
-\/DI-S-63-12-20-209- 12
TD-VDI-S-63-12-20-209-12 20 | 209 | 42 | 264 301 | 30 90 Baruffaldi - TOE-120

TD-VDI-S-63-12-20-240 20 | 240 | 42 | 295|332 | 30 90 - Sauter 05-480-512
TD-VDI-S-63-12-20-240-17 20 | 240 | 42 | 295|330 30 | 90 | 17
TD-VDI-S-80-12-20-290 20 | 290 | 45 | 345|382 | 40 | 120 | -
PRAGATI BTP-80
TD-VDI-S-80-12-30-270 30 | 270 | 57 | 340|380 | 40 | 120 | - Duplomatic-BSV-N-160
TD-VDI-S-80-12-30-270-25 30 | 270 | 57 | 340 | 378 | 40 | 120 | 25 | Baruffaldi- TOE-160
Sauter 05-480-516
TD-VDI-S-80-12-30-315 30 | 315 | 57 | 380 | 425 | 40 | 120 | -
TD-VDI-S-100-12-30-340 30 | 340 | 57 | 400 | 450 | 50 | 145 | -
TD-VDI-S-100-12-30-370 30 | 370 | 57 | 430|480 | 50 | 145 | -
N PRAGATI BTP-100
TD-VDI-S-100-12-40-340 40 | 340 | 65 | 410 475 | 50 | 145 Duplomatic-BSV-N-200

TD-VDI-S-100-12-40-340-32 | 40 | 340 | 65 | 410 | 472 50 | 145 32 | Saruffaldi- TOE-200

TD-VDI-S-100-12-40-340-55 | 40 | 340 | 65 | 410 | 471 50 145 55
TD-VDI-S-100-12-40-370 40 | 370 | 65 | 440 | 505 50 | 145 -
TD-VDI-S-125-12-50-400 50 | 400 80 480 564 63 | 182 - BESOGn’i‘;'iCB_Eg'\}?,f_zso
TD-VDI-S-125-12-50-400-35 | 50 | 400 | 80 | 480 561 63 | 182 35  Baruffaldi- TOE-250
TD-VDI-S-160-12-60-460 60 460 96 560 649 80 | 220 - gm(‘iﬁ;‘ig‘g@'\}ij’_sm
TD-VDI-S-160-12-60-460-40 | 60 | 460 | 96 | 560 | 645 80 | 220 40 Baruffaidi- TOE-320

3 Technical Information



TOOL DISCS S@WWH

VDI TOOL DISCS - DRIVEN TOOLS

8-STATION
o8B c
% 2G L
\ }@ Q h |
GE r" /&/: N\,
i ; / \ o1
| - £ ; f 3 _ |®|_¢ 8
\ Z g v r" Q
Qg o :
b o
FRONT REAR
(LEFT) =—li—= (RIGHT)
OFFSET DISC
CODE OA | OB C @D ~QE OF @G| Y TURRET TYPE
TD-VDI-R-63-8-20-200 20 | 200 | 52 | 255 | 390 | 30 | 90 | - | PRAGATIDTT 63-8-200-0
TD-VDI-R-63-8-20-240 20 | 240 | 52 | 298 430 | 30 | 90 | - | PRAGATIDTT 63-8-240-0
TD-VDI-R-80-8-30-240 30 | 240 | 56 | 310 | 484 | 40 | 120 | - | PRAGATI DTT 80-8-240-0
TD-VDI-R-80-8-30-240-25 | 30 | 240 | 56 | 310 | 481 40 | 120 | 25 | PRAGATI DTT 80-8-240-25
TD-VDI-R-80-8-30-270 30 | 270 | 56 | 340 | 516 | 40 | 120 | - | PRAGATI DTT 80-8-270-0

TD-VDI-R-80-8-30-270-25 30 | 270 | 56 | 340 | 513 | 40 | 120 | 25 | PRAGATIDTT 80-8-270-25
TD-VDI-R-100-8-40-340 40 | 340 64 | 410 | 638 50 145 - PRAGATI DTT 100-8-340-0
TD-VDI-R-100-8-40-340-32 | 40 | 340 @ 64 | 410 | 635 50 145 | 32 | PRAGATIDTT 100-8-340-32

*Driven Tool Discs can be supplied as per customers drawings

Technical Information



TOOL DISCS S@W@@WH

VDI TOOL DISCS - DRIVEN TOOLS

12-STATION .
=]
< [ ]
S
LL. 1 a
Q 1 1 Q
| el
‘ [==]
FRONT REAR
e L ——
OFFSET DISC
CODE OA @B C @D |~@QE OF @G Y TURRET TYPE
TD-VDI-R-63-12-20-240 20 | 240 | 52 | 295 | 430 30 90 - PRAGATI DTT 63-12-240-0
TD-VDI-R-80-12-30-270 30 | 270 @ 56 | 340 | 516 | 40 120 - PRAGATI DTT 80-12-270-0
TD-VDI-R-80-12-30-270-25 30 | 270 56 | 340 513 40 120 | 25 | PRAGATI DTT 80-12-270-25
TD-VDI-R-100-12-40-340 40 340 | 64 | 410 @ 638 50 145 - PRAGATI DTT 100-12-340-0
TD-VDI-R-100-12-40-340-32 | 40 340 | 64 | 410 | 635 50 145 | 32 | PRAGATI DTT 100-12-340-32
TD-VDI-R-100-12-40-370 40 370 | 64 | 440 @ 668 50 145 - PRAGATI DTT 100-12-370-0

*Driven Tool Discs can be supplied as per customers drawings

5 Technical Information



TOOL DISCS

VDI TOOL DISCS - DRIVEN TOOLS

12 STATION-TWO PITCH DIAMETER

C

< g

QL -

[
ST S

0y

OE
OFFSET DISC

CODE JA OB @B2 C | @D ~OE OF 0G| Y TURRET TYPE

TD-VDI-R-63-12-20-200-240-2 20 | 200|240 | 52 | 295|390 | 30 | 90 - | PRAGATI DTT 63-12-200-240-0

TD-VDI-R-63-12-20-200-240-17-2 20 | 200 240 | 52 | 295|388 | 30 | 90 | 17 |PRAGATIDTT 63-12-200-240-17

TD-VDI-R-80-12-30-240-308-2 30 | 240 308 | 56 | 370|484 40 120 - |PRAGATIDTT 80-12-240-308-0

TD-VDI-R-80-12-30-240-308-25-2 30 | 240 308 | 56 | 370|482 | 40 120 | 25 PRAGATIDTT 80-12-240-308-25

TD-VDI-R-80-12-30-270-310-2 30 | 270 310 | 59 | 366 | 516 | 40 | 120 | - |PRAGATIDTT 80-12-270-310-0
TD-VDI-R-100-12-30-310-370-2 30 | 310 370 | 59 | 430|554 | 50 | 145| - |PRAGATIDTT 100-12-310-370-0
TD-VDI-R-100-12-40-370-400-2 40 | 370 | 400 | 67 | 470 668 | 50 | 145 - | PRAGATIDTT 100-12-370-400-0

TD-VDI-R-100-12-40-370-400-32-2 | 40 | 370 | 400 | 67 4 470 666 | 50 | 145 | 32 | PRAGATIDTT 100-12-370-400-32
TD-VDI-R-100-12-40-340-400-2 40 | 340 | 400 | 67 | 470 638 50 | 145 - | PRAGATIDTT 100-12-40-340-400-0

*Inner Pitch Circle Diameter @B for Driven Tools and Outer Pitch Circle Diameter @B2 for Static Tools
*Driven Tool Discs can be supplied as per customers drawings

Technical Information 6



TOOL DISCS S@W@@WH

SLOTTED TOOL DISCS

8-STATION
- 3 -C.
\\// i‘
FRONT —=— = REAR
(LEFT) ‘ (RIGHT)
oE
OFFSET DISC
CODE A B C @D ~@E @F @G 9ZH v TURRET TYPE
- PRAGATI BTP-50
TD-50-8-16-180 16 | 180 | 561 | 252 | 238 | 25 | 70 | 25 Duplomatic-BSV-N-100
- Baruffaldi - TOE-100
TD-50-8-20-200 | 20 | 200 | 54 | 305 280 25 70 | 32 e
TD-63-8-16-200 16 | 200 | 51 | 272 256 | 30 | 90 | 25 - PRAGATI BTP-63

Duplomatic-BSV-N-120
TD-63-8-20-220 20 | 220 | 61 | 325 | 294 | 30 90 32 Baruffaldi - TOE-120

TD-63-8-20-224-12 | 20 | 224 | 61 | 332 281 30 | 90 | 32 | 12 | Sauter 05-480-512

- PRAGATI BTP-80
TD-80-8-20-250 20 | 250 | 61 | 355 324 40 | 120 @ 32 T i
Baruffaldi - TOE-160
TD-80-8-25-280 25 280 81 399 366 40 | 120 | 40 | - | Barufialdi- TOE-(€
TD-100-8-25-304 | 25 | 304 81 423 384 50 | 145 40 - | poac ATIBTP-100
TD-100-8-25-350 | 25 | 350 | 81 | 489 | 420 | 50 | 145 | 40 | - | Duplomatic:-BSV-N-200

Baruffaldi - TOE-200
Sauter 05-480-520

TD-100-8-32-350 32 | 350 96 | 503 440 50 | 145 50 -
TD-125-8-32-350 32 | 350 96 | 503 430 63 | 182 | 50 -

= PRAGATI BTP-125
TD-125-8-32-380 | 32 | 380 96 | 532 | 470 | 63 | 182 | 50 sl Sl

- Baruffaldi - TOE-250
TD-125-8-32-436 | 32 | 436 96 | 588 | 525 | 63 | 182 | 50 Sl e

TD-125-8-40-400 | 40 | 400 | 96 | 541 500 63 182 50 | -
S PRAGATI BTP-160

TD-160-8-32-480 | 32 | 480 126 | 632 560 80 | 220 50 Duslomatic BSV-N-320
= Baruffaldi - TOE-320

TD-160-8-40-480 | 40 | 480 126 | 643 616 80 | 220 60 SRR

* Customised design can be supplied upon request
* Inch series tool discs are available upon request

7 Technical Information



TOOL DISCS

SLOTTED TOOL DISCS

12-STATION B c
oF aG
=
\\ ‘H //
<l
MR Y = AR
TN Mg . 5
Tt — OOt 1
T b o4 = ,J; L__
L \ j / Ll
P - J Y / =
QD \//,\\/\ / \é‘ g:
N / \
= |

OFFSET DISC

CODE A B C @D ~gE @F 0G @H| v TURRET TYPE
PRAGATI BTP-63

TD-63-12-16-236 16 | 236 | 51 | 307 | 270 30 | 90 @ 25 & - e
Sauter 05-480-512
TD-80-12-20-286 | 20 | 286 61 391 348 40 120 32 | - PRAGATI BTP-80

TD-80-12-20-295-12 | 20 | 295 61 | 402 346 40 120 32 | 12 ARl e
TD-80-12-20-320 | 20 | 320 | 61 | 425 382 40 | 120 32 - Sauter 05-480-516

TD-100-12-25-350 | 25 | 350 | 81 | 469 | 420 | 50 | 145 | 40 | - Eﬁ‘é?fn’?aﬂ!ﬁgsp&fﬁ.%oo
TD-100-12-25-350-20| 25 | 350 | 81 | 473 | 421 | 50 | 145 | 40 | 20 SIS S

TD-125-12-25-380 | 25 | 380 | 81 |499 | 460 | 63 | 182 | 40 | - e e
TD-125-12-32-436 | 32 | 436 96 | 588 | 525 63 | 182 50 | - SRR

TD-160-12-32-565 | 32 | 565 | 126 | 717 | 645 80 | 220 | 50 & - e L
TD-160-12-40-565 | 40 | 565 | 126 | 727 | 645 | 80 | 220 | 60 | - o =

* Customised design can be supplied upon request
* Inch series tool discs are available upon request

Technical Information




TOOL HOLDERS

SRHOO R

DIN 69880

VDI TECHNOLOGY

The VDI system is a quick change clamping systems for each tool holder within the tool disc. Tool
changes can therefore be performed within seconds, rather than minutes as with the traditional
block system.

90°
Q
& z
1] \/M @ !
@ 4xo.01o ,\‘

20+2 HRC (TOUGHENED STEEL)/
40+2 HRC (CASE HARDENED STEEL)

FEATURES

¢ VDI tool holders are made as per DIN 69880.

e Tool holders are made by toughened steel C-45 as well as case hardened steel 20MnCr5.

e Our standard supply will be in toughened steel C-45 forformA, B, C, D, E1, E2 & Z varieties.
e Case hardened steel 20MnCr5 for form E4 & F varieties.

e Ourstandard tool holders are fully blackened.

e Shankwhite, teeth white, tool holder seating surface white will be given on request.

e The tool holder shank portion are heat treated to 58+2 HRC, and the teeths are ground.

SELECTION OF VDI TOOL HOLDERS

Spindle Rotation clockwise

Spindle Rotation clockwise

application of OD Turn and Face application of Face and ID Bore
B1 C1

m K C2

e

8a

B8

Spindle Rotation Anticlockwise

e

Spindle Rotation Anticlockwise

application of OD Turn and Face application of Face and ID Bore
o3 Cc3
B7
\ \
c4
/_

g2/

B6

4

Technical Information



TOOL HOLDERS SPHOGRTI

DIN 69880

PRE MACHINED BLANKS

FORM A1
11
I
B "( J\/ﬁ‘ \\/“_;‘_7, < 2 B S — L
Nt ) ° Th
|
b
CODE d1 11 b h

A1 16x44 16 44 78 44
A1 20x65 20 65 100 60
A1 25x75 25 75 100 60
A1 30x85 30 85 130 76
A1 40x100 40 100 151 96
A150x125 50 125 160 120
A1 60x160 60 160 165 125

PRE MACHINED BLANKS

FORM A2
©|
< N
- T [\ ] - ©
©
o
=
CODE d1 d2 12
A2 16x60 16 40 60
A2 20x70 20 50 70
A2 25x80 25 58 80
A2 30x100 30 68 100
A2 40x120 40 83 120
A2 50x135 50 98 135
A2 60x150 60 123 150

Technical Information 10



TOOL HOLDERS S@W@@WH

DIN 69880

RIGHT HAND SHORT-RADIAL

FORM B1

b1

3 12 b2
1 b3|

W
I
T = e
‘ } i H“i‘j‘
‘ < ! Nk fo)
| % 1= \ i | &
[ | © RN
| e [ | < i A
o3 ! — f -
~ © N ¥ }
< | (5p] S e
= il < X \ ©
i 1t \/\J\}w Ty =
. S NS Wn
i oC ‘Ll_j :uu‘,wi
T

CODE d1 b1 b2 | b3 h1 h3 | h4  h5 | h6 | h8 11 12 oc

B1161224 16 42 23 & 12 15 15 20 22 19 13 24 30°
B1201630 20 55 30 7 1612 | 19 19 25 30 23 16 30 30°
B1251630 25 55 30 7 |16/12| 225 | 225 | 25 30 25 16 30 30°
B1302040 30 70 35 10 | 20/16 | 26 22 28 38 30 22 40 25°

B1402544 40 85 | 425 | 125 |25/20 | 35 30 | 325 | 48 - 22 44 -
B1503255 50 100 50 16 | 32/25| 42 35 35 60 - 30 55 -
B1603260 60 125 | 625 16 | 32/25| 46 | 425 | 425 625 - 30 60 -

LEFT HAND SHORT-RADIAL

FORM B2
b1 2
b2
+8.5
b3 11
—+ = \}?'_) ;
et e ™
© ¢ i 52| |
<l L b I © L
7 D ‘ = | ]
\ ﬁ /' ~— T T T [— u o"
L y S
‘/\L/’ e © =
© T <
< R 4 =
s i) ocd ™K |
: ® ‘

CODE d1 b1 b2 b3 h1 h3 | h4 h5 | h6 | h8 11 12 oc

B2161224 16 42 23 & 12 15 15 20 22 19 13 24 30°
B2201630 20 55 30 7 16/12| 19 19 25 30 23 16 30 30°
B2251630 25 55 30 7 |16/12| 225 | 225 | 25 30 25 16 30 30°
B2302040 30 70 35 10 | 20/16 | 26 22 28 38 30 22 40 25°

B2402544 40 85 | 425 | 125 |25/20 | 35 30 | 325 | 48 - 22 44 -
B2503255 50 100 50 16 | 32/25| 42 35 35 60 - 30 55 -
B2603260 60 125 | 62.5 16 | 32/25| 46 | 425 | 425 625 - 30 60 -

1 Technical Information



TOOL HOLDERS

DIN 69880

FORM B3 12
I1+g.5

©
3 s
< © <

<
o«
0 <
o

CODE d1 b1 | b2 b3 h1  h3 | h4 h6  h7 | h9 I 12 oc

B3 16 12 24 16 42 23 5 12 15 15 22 20 19 13 24 30°
B3 20 16 30 20 55 30 7 1 16M12 | 19 19 30 25 23 26 30 30°
B3 25 16 30 25 58 30 7 16/12 | 225 | 225 | 30 25 25 16 30 30°
B3 30 20 40 30 70 35 10 | 20/16 | 26 22 38 35 28 22 40 25°

B3 40 25 44 40 85 | 425 | 12,5 |25/20 35 30 48 | 42.5 - 22 44 -
B3 50 32 55 50 | 100 50 16 | 32/25| 42 35 60 50 - 30 55 -
B3 60 32 60 60 | 125 | 625 | 16 | 32/25 46 | 425 | 62,5 62.5 - 30 60 -

LEFT HAND SHORT OVER HEAD-RADIAL

FORM B4 12

+0.5

L15°]

© it
B =
A < ~
(V] / ©
/ ) = <
1 o T
\ m 'c
N~ T
< - SR <
)
)
1= \ 0
., : -~
b3 ’
b2

oy
=

CODE d1 b1 | b2 b3 h1 | h8 | h4 | h6 | h7 | h9 11 12 oc

B4 16 12 24 16 42 23 5 12 15 15 22 20 19 13 24 30°
B4 20 16 30 20 55 30 7 16/12 | 19 19 30 25 23 26 30 30°
B4 25 16 30 25 55 30 7 |16M12 | 225 | 225 | 30 25 25 16 30 30°
B4 30 20 40 30 70 35 10 | 20/16 | 26 22 38 35 28 22 40 25°

B4 40 25 44 40 85 | 425 | 12,5 |25/20 35 30 48 | 42.5 - 22 44 -
B4 50 32 55 50 100 50 16 | 32/25| 42 35 60 50 - 30 55 -
B4 60 32 60 60 125 | 625 | 16 | 32/25| 46 | 625 62.5 62.5 - 30 60 -

Technical Information 12



TOOL HOLDERS S@W@@WH

DIN 69880

RIGHT HAND LONG-RADIAL

FORM B5
b1
/ 12 b2
+0.5
11° b3
i o = [y
| o N\ s ol N
- | = 7 o ~ 1
E ‘ © 2 \\ s
: . /g H 2
0, Vcd OG0
i 0 \\)j%

CODE d1 b1 | b2 | b3 h1 | h8  h4 | h§ | h6 | h8 11 12 o

B5 16 12 24 16 58 39 3 12 5 15 20 22 19 13 24 30°
B5 20 16 30 20 75 50 7 [16/12| 19 19 25 30 23 16 30 30°
B5 25 16 30 25 75 50 7 |16/12| 225 | 225 | 25 30 25 16 30 30°
B5 30 20 40 30 | 100 | 65 10 | 20/16 | 26 22 28 38 30 22 40 25°

B5 40 25 44 40 | 118 | 755 | 125 25/20 | 35 30 | 325 | 48 - 22 44 -
B5 50 32 55 50 | 130 | 80 16 | 32/25| 42 35 35 60 - 30 55 -
B5 60 32 60 60 | 145 | 825 | 16 |32/25 46 | 425 | 425 625 - 30 60 -

LEFT HAND LONG-RADIAL

FORM B6
b1
b2 12
+8.5
b3 I1
© s e
oo HE Fee [V g
Wil 50
5 S ™ —
© i3 EA < <
< T 3
g © oC
Jop- At ~

CODE d1 b1 | b2 | b3 h1 ' h3  h4 h5  h6 | h8 11 12 o

B6 16 12 24 16 58 39 5 12 15 15 20 22 19 13 24 30°
B6 20 16 30 20 75 50 7 [16/12| 19 19 25 30 23 16 30 30°
B6 25 16 30 25 75 50 7 |16M12| 225 | 225 | 25 30 25 16 30 30°
B6 30 20 40 30 | 100 | 65 10 | 20/16 | 26 22 28 38 30 22 40 25°

B6 40 25 44 40 118 | 755 | 12.5 |25/20 | 35 30 | 325 | 48 - 22 44 -
B6 50 32 55 50 130 80 16 | 32/25| 42 35 35 60 - 30 55 -
B6 60 32 60 60 145 | 825 | 16 |32/25| 46 | 42.5 425 | 62.5 - 30 60 -

13 Technical Information



TOOL HOLDERS

DIN 69880

RIGHT HAND LONG OVER HEAD-RADIAL

FORM B7

Joc = T
/ t g
hl (o)) T
oo
— = N s AT
B O {= /
=
= T ;
© ™
{=
v
=

CODE d1 b1 | b2 | b3 h1 | h8 | h4 | h6 @ h7 | h9 11 12 ocC

B7 16 12 24 16 58 39 5 12 15 15 22 20 19 13 24 30°
B7 20 16 30 20 75 50 7 16M12 | 19 19 30 25 23 16 30 30°
B7 25 16 30 25 75 50 7 16/12| 225 | 225 | 30 25 25 16 30 30°
B7 30 20 40 30 | 100 | 65 10 | 20/16 | 26 22 38 35 28 22 40 25°

B7 40 25 44 40 | 118 | 7565 | 12.5 25/20 | 35 30 48 | 42.5 - 22 44 -
B7 50 32 55 50 | 130 | 80 16 | 32/25| 42 35 60 50 - 30 55 -
B7 60 32 60 60 | 145 | 825 | 16 |32/25 46 | 425 | 625  62.5 - 30 60 -

LEFT HAND LONG OVER HEAD-RADIAL

FORM B8

N\'\ o
tnmin \';9 oC
i
= o Y o 2 °5.1'_
N \ < < L=
WA st T ]
— ™
N~ ==
< e M|
Sedl i, N
o
T =
b1

CODE d1 b1 | b2 b3 | h1 | h3 | h4 h6 h7 @ h9 11 12 o

B8 16 12 24 16 58 39 5 12 15 15 22 20 19 13 24 30°
B8 20 16 30 20 75 50 7 1 16/12 | 19 19 30 25 23 16 30 30°
B8 25 16 30 25 73 50 7 16/12| 225 | 225 | 30 25 25 16 30 30°
B8 30 20 40 30 | 100 65 10 | 20/16 | 26 22 38 35 28 22 40 25°

B8 40 25 44 40 | 118 | 7565 | 12.5 25/20 35 30 48 | 42.5 - 22 44 -
B8 50 32 55 50 | 130 80 16 | 32/25| 42 35 60 50 - 30 55 -
B8 60 32 60 60 | 145 | 825 | 16 |32/25| 46 | 42.5 | 625 | 62.5 - 30 60 -

Technical Information 14



TOOL HOLDERS S@W@@WH

DIN 69880

RIGHT HAND -AXIAL

FORM C1

b1
11
12 13 b2
, "ol
i e < L4
2 c\i = s I © e /,/,::‘E:@
AT | D < 7,,7,#,@,\;, ]
o | o @ NEL =
KA
. V|
fffffffffff i o tof ~
* b3

CODE dl | b1 | b2 b3 h1 h3  h4 | h5 h6  h8 N 12 I3 | cc

C1161244 | 16 | 43 | 24 13 12 15 16 | 20 | 22 19 | 44 5 20 | 30°
C1201655 | 20 | 52 | 27 13 |16/12] 19 19 | 25 | 30 | 23 | 55 7 30 | 30
C1251655 | 25 | 58 | 33 19 |16/12/ 225 225| 25 @ 30 | 25 | 55 7 20 | 30°
C1302070 30 | 70 | 35 17 |20/16, 26 | 22 | 28 A 38 | 30 | 70 10 | 30 | 25

C1402585 | 40 | 85 425| 21 25/200 35 | 30 | 325 48 - 85 | 125| 30 -
C15032100, 50 | 100 | 50 | 26 |32/25| 42 | 35 35 | 60 - 100 | 16 | 40 -
C16032125| 60 | 125 | 62.5 | 33 |32/25| 46 | 425 425 625 | - 125 | 16 | 40 -

LEFT HAND -AXIAL

FORM C2

b4 1
b5 13 12
s
b= % @ ® %T
VAl |
e /)Xm oG
-~
b6 !

CODE dl b4 b5 b6  h1 h3 h4 | h& h6 h8 I 12 I3 | <c

C2161244 | 16 | 43 | 24 13 12 15 15 | 20 | 22 19 | 44 5 20 | 30°
C2201655 | 20 | 65 | 40 | 26 16/12| 19 19 | 25 | 30 | 23 | 50 7 30 | 30°
C22516585 | 25 | 58 | 33 19 (16/12| 225|225 | 25 | 30 | 25 | 55 7 20 | 30°
C2302070 30 | 76 | 41 | 23 20/116| 26 H 22 28 | 38 | 30 | 70 10 | 30 | 25°

C2402585 | 40 | 90 | 47.5 25,5 25/20/ 35 @ 30 | 32.5 48 - 85 | 12,5 30 -
C25032100| 50 | 105 55 |30.5|32/25 42 | 35 | 35 | 60 - 100 | 16 | 40 -
C26032125| 50 | 125 62.5| 33 |32/25 46 | 425|425 625 - 125 | 16 | 40 -

15 Technical Information



TOOL HOLDERS

DIN 69880

RIGHT HAND OVER HEAD-AXIAL

FORM C3

h6

d1'h6

h7

CODE dl b1 | b2 b3 h1 h3 | h4d  h6 h7  h9 NI 12 I3 | oc

C3161244 | 16 | 43 | 24 13 12 15 15 | 22 | 20 19 | 44 5 20 | 30°
C3201655 | 20 | 52 | 27 13 |16/12] 19 19 | 30 | 25 | 23 | 565 7 30 | 30°
C3251655 | 25 | 58 | 33 19 (16/12|22.5|225| 30 | 25 | 26 | &5 7 20 | 30°
C3302070 | 30 | 70 | 35 17 |20/16, 26 | 22 | 38 35 28 | 70 10 | 30 @ 25°

C3402585 | 40 @ 85 425 21 2520 35 | 30 | 48 425 - | 85 125 30 | -
C35032100 | 50 < 100 50 & 26 (32/25 42 | 35 | 60 = 50 = - | 100 16 | 40 | -
C36032125| 60 | 125 625 33 32/25 46 425|625 625 - | 125 16 | 40 | -
LEFT HAND OVER HEAD -AXIAL
FORM C4

h1 -0.1

d1 h6

CODE dl b4 | b5 b6 h1 h3 | h4d  h6 h7  h9 NI 12 I3 | oc

C4161244 @ 16 @ 43 @ 24 18 12 15 16 | 22 | 20 19 | 44 5 20 | 30°
C4201655 | 20 | 65 | 40 | 26 |16/12 19 19 | 30 | 25 | 23 | &5 7 30 | 30°
C4251655 | 25 | 58 | 33 19 |16/12/ 225 225| 30 @ 25 25 | 55 7 20 | 30°
C4302070 | 30 @ 76 41 23 20/16| 26 | 22 | 38 | 35 | 28 | 70 10 | 30 | 25

C4402585 | 40 | 90 475|255 |25/20 35 | 30 | 48 425 - 85 | 125 30 -
C45032100 50 | 105 | 55 | 30.532/25 42 | 35 | 60 | 50 - 100 | 16 | 40 -
C46032125 60 | 125 | 625 33 32/25 46 425 625 62.5| - 125 | 16 | 40 -

Technical Information 16



TOOL HOLDERS S@W@@WH

DIN 69880

MULTIPLE SQUARE SEATS HOLDER

FORM D1
b3 b1
b4 b2

- 2

; € ]

L o
<
( ) <
=
‘oc

CODE d1 b1 b2 b3 b4 h1 h3 h4 h6 11 12 oC

D125 16 48 25 33 19 33 19 |16/12| 25 30 25 34 48 30°
D1 30 20 60 30 35 17 41 23 |20/16| 28 38 30 42 60 25°

D1402572 40 42.5 21 47.5 | 25.5 |25/20 | 32.5 48 - 50 72 -
D150 32 85 50 50 26 55 30.5 | 32/25| 35 60 - 60 85 -
D160 32 110 60 57.5 33 57.5 33 | 32/25| 42.5 | 62.5 - 85 110 -
MULTIPLE SQUARE SEATS OVERHEAD
FORM D2
1
b4_ b2
P .
| N \\“‘.| 2 %
[ b =
/;\{ /% 2
il e ‘L J
HEsEviiin: AR
b3 b1 12
CODE d1 b1 b2 b3 b4 h1 h4 h5 h7 11 12 o

D2 25 16 48 25 33 19 33 19 |16/12 | 30 25 25 34 48 30°
D2 30 20 60 30 35 17 41 23 |20/16 | 38 35 28 42 60 25°

D2 402572 40 | 425 | 21 | 475 255 25/20| 48 | 425 - 50 72 -
D2 50 32 85 50 50 26 55 | 30.5 32/25| 60 50 - 60 85 -
D2 60 32 110 60 | 57.5 | 33 | 657.5 | 33 ([32/25| 62.5 | 62.5 - 85 110 -

17 Technical Information



TOOL HOLDERS

DIN 69880

THROUGH COOLANT BORING BAR HOLDERS

FORM E1

\\K
h2

£
j f}i
h1
d1 h6
i
i
i
i
1
il
8
d2 H6|
d3

CODE dl | d2  d3  d4 d5 dé | hi h2 11 12 13 14 15

E120x16 20 16 36 12 | M10x1| 50 - 23 64 51 18 15 85
E120x20 20 20 40 12 | M10x1| 50 - 23 67 54 18 15 35
E1 20x25 20 25 45 17 | M12x1| 50 - 23 71 59 18 17 40

E1 25x16 25 16 40 12 ' M10x1| 58 @ 25 25 67 54 18 15 35
E1 25x20 25 20 40 12 | M10x1| 58 | 25 25 67 54 18 15 35
E1 25x25 25 25 45 17 |M12x1| 58 | 25 725 71 &9 18 17 40
E1 30x16 30 16 36 12 | M10x1| 68 | 28 30 64 51 22 15 35
E1 30x20 30 20 40 12 | M10x1| 68 @ 28 30 67 54 22 15 85
E1 30x25 30 25 45 17 |M12x1| 68 | 28 30 71 59 22 17 40
E1 30x32 30 32 52 | 24 |M12x1 68 | 28 30 75 63 22 17 44
E1 30x40 30 40 65 32 M16x1| 68 | 28 30 90 73 22 22 50

E1 40x16 40 16 36 12 | M10x1| 83 | 32.5 - 64 51 22 15 35
E1 40x20 40 20 40 12 | M10x1| 83 | 32.5 - 67 54 22 15 35
E140x25 40 25 45 17 | M12x1| 83 | 32.5 - 75 59 22 17 40
E1 40x32 40 32 52 24 |M12x1| 83 | 32.5 - 75 63 22 17 44
E1 40x40 40 40 65 32 M16x1| 83 | 32.5 - 90 73 22 22 50
E1 50x20 50 20 40 12 | M10x1| 98 35 - 67 54 30 15 35
E1 50x25 50 25 45 17 | M12x1| 98 35 - 80 59 30 17 40
E1 50x32 50 32 52 24 | M12x1| 98 35 - 80 63 30 17 44
E1 50x40 50 40 65 32 M16x1, 98 35 - 90 73 30 22 50
E1 50x50 50 50 75 | 42 | M16x1| 98 85 - 100 | 83 30 24 60
E1 60x20 60 20 40 12 | M10x1| 123 | 42.5 - 80 54 30 15 35
E1 60x25 60 25 45 17 | M12x1| 123 | 425 - 80 59 30 17 40
E1 60x32 60 32 52 24 | M12x1| 123 | 42.5 - 80 63 30 17 44
E1 60x40 60 40 65 32 | M16x1| 123 | 42.5 - 90 73 30 22 50
E1 60x50 60 50 75 | 42 | M16x1| 123 | 42.5 - 100 & 83 30 24 60

Technical Information 18



TOOL HOLDERS S@W@@WH

DIN 69880

BORING BAR HOLDERS

FORM E2
17
d9
p= wliiln
- e — E;,,;,;,;ﬂ} 'f )
N ° | Wi‘h’ % ©
= 1!
13
16
CODE d1 d2 dé ds8 d9 h1 h2 13 16 17

E2 16x6 16 6 40 32 M6 18 18 13 44 34
E2 16x8 16 8 40 32 M6 18 18 13 44 34
E2 16x10 16 10 40 32 M6 18 18 13 44 34
E2 16x12 16 12 40 40 M8 18 18 = 44 34
E2 16x16 16 16 40 40 M8 18 18 = 44 34
E2 20x8 20 8 50 40 M6 - 23 18 50 41
E2 20x10 20 10 50 40 M6 - 23 18 50 41
E2 20x12 20 12 50 40 M8 - 23 18 50 41
E2 20x16 20 16 50 40 M8 = 23 18 50 41
E2 20x20 20 20 50 50 M8 - 23 - 50 41
E2 20x25 20 25 50 50 M8 - 23 - 60 51
E2 25x8 25 8 58 40 M6 25 25 18 50 41
E2 25x10 25 10 58 40 M6 25 25 18 50 41
E2 25x12 25 12 58 40 M8 25 25 18 50 41
E2 25x16 25 16 58 40 M8 25 25 18 50 41
E2 25x20 25 20 58 58 M8 25 25 18 50 41
E2 25x25 25 25 58 58 M8 25 25 18 60 51
E2 30x8 30 8 68 55 M6 28 30 22 60 51
E2 30x10 30 10 68 55 M6 28 30 22 60 51
E2 30x12 30 12 68 55 M8 28 30 22 60 51
E2 30x16 30 16 68 55 M8 28 30 22 60 51
E2 30x20 30 20 68 55 M8 28 30 22 60 51
E2 30x25 30 25 68 55 M8 28 30 22 60 51
E2 30x32 30 32 68 68 M8 28 30 = 75 61
E2 40x8 40 8 83 55 M6 325 = 22 75 61
E2 40x10 40 10 83 55 M8 325 = 22 75 61
E2 40x12 40 12 83 55 M8 32,5 = 22 75 61
E2 40x16 40 16 83 55 M10 32,5 = 22 75 61
E2 40x20 40 20 83 55 M10 32,5 = 22 75 61
E2 40x25 40 25 83 55 M10 32,5 = 22 75 61
E2 40x32 40 32 83 83 M10 32,5 = = 75 61
E2 40x40 40 40 83 83 M10 325 = = 90 76
E2 50x16 50 16 98 68 M10 35 = 30 90 76
E2 50x20 50 20 98 68 M12 35 = 30 90 76
E2 50x25 50 25 98 68 M12 35 = 30 90 76
E2 50x32 50 32 98 68 M12 35 = 30 90 76
E2 50x40 50 40 98 98 M12 35 = = 90 76
E2 50x50 50 50 98 98 M12 B5) - - 100 86
E2 60x16 60 16 123 68 M10 42.5 - 30 90 76
E2 60x20 60 20 123 68 M12 42.5 - 30 90 76
E2 60x25 60 25 123 68 M12 42.5 - 30 90 76
E2 60x32 60 32 123 68 M12 42.5 - 30 90 76
E2 60x40 60 40 123 98 M12 42.5 - 30 90 76
E2 60x50 60 50 123 98 M12 42.5 - 30 100 86

19 Technical Information



TOOL HOLDERS

DIN 69880

COLLET CHUCKS AS PER DIN 6499

FORM E4

e

= oo

© 1

L
13
110
111
CODE d1 d2 | d4 d6 | d12 | h1 h2 13 10 111

E4 16x16 16 16 | 05-10 | 40 32 18 . 13 | 275 | 38
E4 16x20 16 20 | 113 | 40 35 18 18 13 | 325 | 44
E4 20x16 20 16 | 05-10 | 50 32 . 23 18 | 325 | 44
E4 20x20 20 20 | 113 | 50 35 : 23 18 | 325 | 44
E4 20x25 20 25 | 116 | 50 42 . 23 18 38 50
E4 25x20 25 20 | 113 | 58 35 25 25 18 325 | 44
E4 25x25 25 25 | 1-16 | 58 42 25 25 18 45 57
E4 25x32 25 32 | 220 58 50 25 25 18 495 | 62
E4 30x25 30 25 | 116 | 68 42 28 30 22 45 57
E4 30x32 30 32 | 220 68 50 28 30 22 | 495 | 62
E4 30x40 30 40 | 326 | 68 63 28 30 22 56 70
E4 40x25 40 25 | 116 | 83 42 | 325 - 22 | 495 | 62
E4 40x32 40 32 | 220 | 83 50 | 325 - 22 | 495 | 62
E4 40x40 40 40 | 326 | 83 63 | 325 . 22 61 75
E4 50x32 50 32 | 220 98 50 35 - 30 | 575 | 75
E4 50x40 50 40 | 326 98 63 35 . 30 61 75
E4 60x40 60 40 | 326 | 123 | 63 | 425 . 30 61 75

Technical Information

20



TOOL HOLDERS S@W@@WH

DIN 69880

FORM E7 (DOUBLE BORING BAR HOLDER - RIGHT)

d3

i - -
=1 | = N

i <

2
11

CODE d1 d2 h1 h2 1 12 b1 b2 b3 d3

E7 20 16 20 16 25 25 45 42 32 51 76 | M8

E7 20 20 20 20 25 25 45 42 32 51 76 | M8

E7 30 25 30 25 28 32 56 52 45 65 95 | M8

E7 30 32 30 32 28 32 66 60 50 75 10 | M8
E7 40 32 40 32 | 325 | 40 66 60 50 75 115 | M10
E7 40 40 40 40 | 325 | 40 90 80 50 75 115 | M10
E7 50 32 50 32 | 325 475 66 60 50 75 15 | M12
E7 50 40 50 40 | 325 | 475 @ 90 80 50 75 15 | M12
E7 50 50 50 50 35 49 115 | 100 68 103 | 152 | M12

FORM E8 (DOUBLE BORING BAR HOLDER - LEFT)
d3

11 [ -

T © <

Sl I = :

K <

2
11

CODE d1 d2 h1 h2 1 12 b1 b2 b3 d3

E8 20 16 20 16 25 25 45 42 32 51 76 | M8

E8 20 20 20 20 25 25 45 42 32 51 76 | M8

E8 30 25 30 25 28 32 56 52 50 65 95 | M8

E8 30 32 30 32 28 32 66 60 50 75 10 | M8
E8 40 32 40 32 | 325 | 40 66 60 50 75 15 | M10
E8 40 40 40 40 | 325 | 40 90 80 50 75 15 | M10
E8 50 32 50 32 | 325 475 | 66 60 50 75 15 | M12
E8 50 40 50 40 | 325 | 475 @ 90 80 50 75 15 | M12
E8 50 50 50 50 35 49 115 | 100 68 103 | 152 | M12

* Customised design can be supplied upon request

21 Technical Information



TOOL HOLDERS
DIN 69880

CODE d1 d2 h1 h2 b1 b2 b3 11 12

RBTH 25 25 CH-75 25 25 32 32 35 35 57 75 100
RBTH 25 32 CH-75 25 32 32 32 35 35 57 145 100
RBTH 30 25 CH-85 30 25 35 35 35 35 57 85 110

co| co|l 0l | || T
IS
©

RBTH 30 32 CH-85 30 32 35 35 35 35 57 85 110 48
RBTH 30 40 CH-85 30 40 35 35 35 35 57 85 110 48
RBTH 30 25 CH-100 30 25 35 35 35 35 57 100 | 125 48
RBTH 30 32 CH-100 30 32 35 35 35 35 57 100 | 125 48
RBTH 30 40 CH-100 30 40 35 35 35 35 57 100 | 125 8 48
RBTH 40 25 CH-100 | 40 25 43 43 45 45 65 100 | 130 10 56
RBTH 40 32 CH-100 | 40 32 43 43 45 45 65 100 | 130 10 56
RBTH 40 40 CH-100 | 40 40 43 43 45 45 65 100 | 130 10 56
TEST MANDREL
|
o~ <
©
Y
Y
. - 11 N

CODE d1 d2 d3 11 12

Y 16 16 30 40 125 15

Y 20 20 40 50 125 15

Y 25 25 40 58 125 15

Y 30 30 40 68 125 15

Y 40 40 40 83 125 15

Y 50 50 40 98 125 15

Y 60 60 40 125 125 15

Technical Information 22



TOOL HOLDERS S@W@@WH

DIN 69880

MORSE TAPER HOLDERS

FORM F
i
= ©
= <
o e]
o~ ©
< i
12
11
CODE d1 d2 MT d3 d4 h1 h2 11 12
F 20 MT 1 20 50 1 12.065 - - 23 23 -
F 25 MT 1 25 58 1 12.065 - 25 25 23 -
F 25 MT 2 25 58 2 17.780 - 25 25 27 -
F 30 MT 1 30 68 1 12.065 - 28 30 27 -
F 30 MT 2 30 68 2 17.780 - 28 30 27 -
F 30 MT 3 30 68 3 23.825 - 28 30 73 -
F 40 MT 1 40 83 1 12.065 55 32.5 - 36 22
F 40 MT 2 40 83 2 17.780 59 32.5 - 36 22
F 40 MT 3 40 83 8 23.825 58 32.5 - 36 22
F 40 MT 4 40 83 4 31.267 68 32.5 - 80 22
F 50 MT 2 50 98 2 17.780 55 35 - 36 30
F 50 MT 3 50 98 3 23.825 58 85 - 36 30
F 50 MT 4 50 98 4 31.267 68 35 - 50 30
F 60 MT 3 60 123 3 23.825 58 42.5 - 36 30
F 60 MT 4 60 123 4 31.267 68 42.5 - 50 30
F 60 MT 5 60 123 5 44,399 98 42.5 - 63 30
PLUG
FORM Z2
|
‘,,:,‘L:,,,\ =
S ©
,i;\i,?,iﬂli, c 4 |
d3 11 |2
CODE d1 d3 h1 h2 11 12
Z2 16S - 16 40 18 18 32 13
Z2 20S - 20 50 23 23 40 16
Z2 258 Z2 25P 25 58 25 25 48 16
Z2 30S Z2 30P 30 68 28 30 59) 16
Z2 40S Z2 40P 40 83 32.5 - 63 20
Z2 50S Z2 50P 50 98 85 - 78 20
Z2 60S - 60 123 42.5 - 94 20

* 'S’ Stands for Steel Plug
‘P’ Stands for Plastic Plug

23 Technical Information



TOOL HOLDERS

DIN 69880
CUTOFF TOOL HOLDER
AR
fp)
¢ 00 @ 06 -
©
o
] b2
b1
12
CODE d1 b1 b2 h1 h5 h6 11 12
AR20 26 20 60 30 26 28 36 44 50
AR25 26 25 60 30 26 28 36 44 50
AR30 26 30 70 35 26 32 39 44 50
AR30 32 30 70 35 32 32 39 44 50
AR40 26 40 85 425 26 43 415 44 50
AR40 32 40 85 42.5 32 43 415 44 50
AR50 26 50 100 50 26 43 45 44 50
AR50 32 50 100 50 32 43 45 44 50
ARG0 26 60 125 62.5 26 48 59) 44 50
ARGO 32 60 125 62.5 32 48 55 44 50
CUTOFF TOOL HOLDER
AL
*| @o © 0@ .
22200 -
e
b2 11
b1 12

CODE d1 b1 b2 h1 h5 h6 11 12
AL20 26 20 60 30 26 28 36 44 50
AL25 26 25 60 30 26 28 36 44 50
AL30 26 30 70 35 26 32 39 44 50
AL30 32 30 70 35 32 32 39 44 50
AL40 26 40 85 42.5 26 43 415 44 50
AL40 32 40 85 425 32 43 415 44 50
AL50 26 50 100 50 26 43 45 44 50
AL50 32 50 100 50 32 43 45 44 50
ALGO 26 60 125 62.5 26 48 59 44 50
ALGO 32 60 125 62.5 32 48 59) 44 50

Technical Information

24



TOOL HOLDERS §@W@@

CUTOFF TOOL HOLDER
ARU
@,
e
| Qe s S—
5 @)D
Y YY) o
=
I b2
12 b1
CODE d1 b1 b2 h1 h5 h6 11 12
ARU25 26 25 60 30 26 36 28 44 50
ARU30 26 30 70 35 26 38 35 44 50
ARU30 32 30 70 35 32 38 35 44 50
ARU40 26 40 85 425 26 43 415 44 50
ARU40 32 40 85 42.5 32 43 415 44 50
ARU50 26 50 100 50 26 43 45 44 50
ARU50 32 50 100 50 32 43 45 44 50
ARUGO 26 60 125 62.5 26 48 655 44 50
ARUGO 32 60 125 62.5 32 48 55 44 50

LOCKING CLAMPS

VDI CLAMP

CODE d1 d2 11 12 d3 oC
VEC20 16/20/25 20 25 2 M6 20°
VEC22 30 22 34 2 M8 20°
VEC26 30 26 32 3 M8 20°
VEC34 40 34 44 3 M10 20°
VEC 44  50/60 44 50 3 M12 25°

* Locking clamps can be suppliy as per customers drawing.

25 Technical Information



TOOL HOLDERS

DIN 69880
DAMPENED TOOL HOLDER
E2-S
11
12
] —
= '4@ 77777 <
3 3 ]

CODE d1 d2 d3 d4 h1 11 12 13
E2-S-30x10 30 46 68 10 28 88 22 65
E2-S-30x12 30 46 68 12 28 88 22 70
E2-S-30x16 30 50 68 16 28 88 22 70
E2-S-30x20 30 54 68 20 28 96 22 80
E2-S-30x25 30 58 68 25 28 112 22 100
E2-S-30x32 30 63 68 32 28 142 22 128
E2-S-30x40 30 73 68 40 28 174 22 150
E2-S-40x10 40 46 83 10 32.5 88 22 65
E2-S-40x12 40 46 83 12 32.5 95 22 85
E2-S-40x16 40 50 83 16 325 88 22 70
E2-S-40x20 40 54 83 20 32.5 96 22 80
E2-S-40x25 40 58 83 25 32.5 112 22 100
E2-S-40x32 40 63 83 32 32.5 142 22 128
E2-S-40x40 40 73 83 40 32.5 174 22 150
E2-S-50x16 50 50 98 16 85 103 30 85
E2-S-50x20 50 54 98 20 B5) 103 30 89
E2-S-50x25 50 59 98 25 85 120 30 106
E2-S-50x32 50 65 98 32 B5) 150 30 128
E2-S-50x40 50 73 98 40 85 182 30 160
E2-S-50x50 50 83 98 50 B5) 182 30 160
E2-S-60x25 60 59 123 25 42.5 120 30 106
E2-S-60x32 60 65 123 32 42.5 150 30 128
E2-S-60x40 60 I8 123 40 42.5 182 30 160
E2-S-60x50 60 83 123 50 42.5 202 30 180

Technical Information 26



FOR VDI TOOL HOLDER =1 .27 SRHOO R

BORING BAR HOLDER ONLY

TYPE -A TYPE -B TYPE -C
( E1 & E2 VARIETIES FOR SMALLER TOOLS ) (E1 VARIETIES FOR BIGGER TOOLS ) ( E2 VARIETIES FOR BIGGER TOOLS )
-
S NAVZIVZ] _ o %
g8 8 g9 3 §S §
‘ F E i
SUITS SUITS SUITS
CODE @d1@d2| F FOR CODE @d1@d2| F FOR CODE @d1@d2| F FOR
E1 20x20
EE E2 20x20
SME 2008 08 E1 40x20 SME1 2012 12 E1 20x20 SM E2 20 12 L39 39 | E2 30x20
20 39 E1 50x20
E2 20x20 E1 30x20 20 |12
10 E2 30x20 20 52 |E140x20
SME 20 10 E2 40x20 E2 40x2
E2 50x20 E150x20 SM E2 20 12 L52 52 | E5 58"28
E2 20x25 SM E120 16 16 X
SM E 25 08 08 E2 30x25
E2 40x25 E2 20x20
E2 50x25 39 X
SME2510 | 25|10 | 50 2502 SRR E2 30x20
E130x25 SME1 2516 16 E1 20425 20 | 16
SME 25 12 12 E140x25
E1 30x25 E2 40x20
E150x25 25 50 | E1 20x25 SM E2 20 16 L52 52 | E2 50x20
SM E 32 08 08 E1 50x25
E2 30x32 SM E1 25 20 20
SM E 32 10 10 E2 40x32
32 59 E2 50x32 SM E2 25 16 16 Eg ggxgg
E130x32 X
SME 32 12 12 = 40§32 25 50 | E2 40x25
E1 50x32 SM E1 32 20 20 E2 50x25
20
SME 32 16 16 E1 30x32 SM E2 25 20
32 59 |E1 40x32
SM E 40 08 08 E1 50x32
SME13225 25 SM E2 32 20 20
SM E 40 10 10 E2 40x40 E2 30x32
_ 32 59 | E2 40x32
x40 E2 50x32
SME4012 | 40 | 12| 69 |E130x40 SM E2 32 25
E1 40x40 25
E1 50x40 SM E1 40 25 25
SME 40 16 16 x E1 30x40
40 69 |E140x40
E1 50x40
SM E 40 20 20 SM E240 25 25
SM E1 40 32 32 40 69 E2 40x40
SM E 50 08 08 E2 50x40
E2 40x50
SME 50 10 10 E2 a0 SM E2 40 32 32
E2 60x50 SM E1 50 25 25
SME5012 | 50 | 12 | 80 | E140x50 E140x50
E150x50 | SME25025 25
E1 50x50 SM E1 50 32 50 32 80 E2 40x50
SME 50 16 16 E1 60x50 E160x50 SME25032| 50 | 32 | 80/ E250x50
E2 60x50
SM E 50 20 20 SM E1 50 40 40 SM E2 50 40 40

* Made out of medium carbon steel and toughened to 20+ 2 HRC.

27 Technical Information



TOOL HOLDERS - ASPERDIN 5482 )V 0)0)[ /]

DRIVEN TOOL HOLDERS

AXIAL TOOL HEAD
s
P
@ :
[ (e 1« - . 2
] e =
E_F A g

CODE d1 A B C E F G H X (onNe P | TOOLDISCTYPE
ATH30-ER20-82 30 = 94 < 55 45 30 | 30 | 30 28 2-13| ER20 | B15x12xg8 A DRWENTOOLDISC
ATH30-ER25-82 30 | 99 | 55 | 45 | 30 | 30 @ 30 | 28 |2-16| ER25 | B15x12xg8 | PRIENTOOLDISC
ATH40-ER32-82 40 | 123 63 | 53 | 41 | 41 | 43 | 40 |3-20| ER32 | B17x14x9 | DRNMENTOOLDISC

AXIAL TOOL HEAD SHORT

= P
7\ 9 e
ol \ 5
c
E| F A B
CODE d1 A B C E F G H X (pnaws P | TOOLDISCTYPE
ATHS 30-ER20-82 30 = 78 | 55 45 | 35 35 | 33 33 213 ER20 | B15x12x8 | PRIMFNICSSRLSC
ATHS 40-ER25-82 40 = 85 63 | 53 425 425 38 38 2-16| ER25 | B17x14x9 | PRIMFRICSSRLSC

RADIAL TOOL HEAD

&
Pt
W

d1h6 mv]
Gl 4
|
[

CODE di|A/ B C/D E F G H J K X (D|N36499) P TOOL DISC TYPE
RTH30-ER25-82| 30 84 | 55 45 63 97 49 33 119 40 8 216 ER25 B15x12X8 PRIFBISSSRESC
RTH40-ER32-82| 40 | 91 | 63 | 53 | 80 109 43 | 43 131 63 10 [3-20 ER32 B17x14x9 PRWFRISSSRLSC

RADIAL TOOL HEAD - DIRECT DRIVE

C
S/EAB

CODE d1 A B C D E F GH J K L X pndwgy P  TOOLDISCTYPE

RTHD 30-ER25-82| 30 | 55 | 55 45 33 | 38 | 75 41.5 85 40 | 8 33 216 ER25 |B15X12X8 PRYFNIOSSRISC
I

R
RTHD 40-ER32-82 40 | 64 | 63 53 | 38 425 89 | 45 98 63 | 10 | 38 |3-20| ER32 |B17X14x9 CRWENTOOLDISC

Technical Information 28



29

TOOL HOLDERS - AS PERDIN 5480 oYV 0)0)[237/]]

DRIVEN TOOL HOLDERS

AXIAL TOOL HEAD
P
T //EQ\ 5 e
o \ g °
@
E F A B
CODE |d1| A |B|C|E|F|G|H|X oS P TOOFDISC

ATH20-ER20-80| 20 | 94 | 51 40 30 30 | 27 | 26 |2-13| ER20 |w11x0.8x30°x12 PRIENTOOL DISC
ATH30-ER20-80| 30 | 94 | 67 | 55 30 30 | 30 28 | 2-13| ER20 | w1exo.8x30 x1g PRIENTOOL DisC
ATH 30-ER25-80| 30 985 67 ' 55 30 30 30 28 2-16 ER25 |wi16x0.8x30-x18 PRNVENTOOLDISC
ATH40-ER32-80| 40 123 75 | 63 41 41 43 40 3-20 ER32 | w20x0.8x30"x24 PRGN IOQL RISC

AXIAL TOOL HEAD SHORT

S
\m'w d
ac
o | E
. c
E_LF A B
TOOL DISC
CODE di1 A B C E F G H X (DINSG499) P TYPE
ATHS 20-ER20-80) 20 | 76 | 51 | 40 H 31 | 31 | 35 |28 210 = ER16 | w11x0.8x30°x12{PRNVENTOOL DISC
RADIAL TOOL HEAD
D
A=
P L
-
ol B
T
C
\ S A B X
CODE d1 A B/ C D E F G H J K X g3 P Tog- Disc
RTH 30-ER25-80| 30 | 84 | 67 55 63 97 49 33 119 48 8 2-16 ER25  w16x0.8x30°x18 PRIVENTOOLDISC
RTH 40-ER32-80 | 40 1 91 75|63 80 109 43 43 131 56 10 |3-20| ER32 | w20x0.8x30°x24 CRIEN TOSL RISC
RADIAL TOOL HEAD - DIRECT DRIVE
H D__L
K|
N G i
2w
‘ e N
i o D
| T— o
H}lﬁ ©
0 A _|_B X
CODE dA B C DE F GH JKL X 53 P TOOrDISC

RTHD 20-ER16-80 20 45 |51 |40 29 35565.5/325 71 40 '8 29 2-10 | ER16 \w1ox0.8x30 11 CRIENTOOLDISC

Technical Information



TOOL HOLDERS SPHOORmI

DRIVEN TOOL HOLDERS

AXIAL TOOL HEAD - DIN 1809

S
P
T 2
o 1€ <= =
E|F c
A B
CODE d1 A B | C E F G H X ;i P TOOrDISC
ATH 30-ER20-09 | 30 (94 |62 |50.5 30 30 | 30 | 28 2-13 ER20 6x12 BRIVERNIOOMDISS
ATH30-ER25-09 | 30 99 | 62 505 30 30 30 28 2-16 ER25 6x12  |DRIVENTOOLDISC
ATH 40-ER32-09 | 40 (123 | 72 |56 41 | 41 | 43 40 3-20 ER32 8x14 IR oI plse
RADIAL TOOL HEAD - DIN 1809
P
a4
. L
B
S TOOL DISC
CODE dl A B C E F G H J K L X (DIN6499) P TYPE

RTH30-ER25:09 30 84 62 505 965 49 33 119 63 40 7  2-16 ER25 6x12 PRYENIOOLDISC
RTH40-ER3209 40 91 72 56 1065 43 43 131 80 63 7 320 ER32 8x14 DRYENTOOLDISC

RADIAL TOOL HEAD AS PER DIN 5480 INT NUT

)
=
(
R
©
d1h6 \\-U

|
S
L .l: 4 \ ©
)
= 02, .
X
J A B
CODE d1 A B C E F G H  J K X |ondo P TO(T)\IEPDEISC
RTH 30-ER25-80IN 30 | 85 | 67 | 55 35 35 495 62 535 120 2-16 | ER25NT | W16X0.8x30°X18 |PRIENTOOL DISC
DRIVEN TOOL DISC

RTH 40-ER32-80IN| 40 100| 75 63 | 38 | 38 | 54 |67.5 | 56 144 3-20 | ER32-INT | W20X0.8X30°X24 |~ \/D @40 BORE

Technical Information 30



TOOL HOLDERS SPHOGORIN

TOOL HOLDERS FOR SLOTTED TOOL DISCS
BTH (BORING TOOL HOLDER)

« Highest Tensile Strength of 40kgf/mm2 and better impact properties.

Finish machined on Hi-Precision machining centers.

Interchangable tool holders. No need for in-line boring on machine.

Through Coolant Boring Tool Holders also available.
Suitable sleeves can be used in BTH for different tool sizes.

Inch series Boring Tool Holders are also available upon request.

CODE A @B C D E F G H | TOOL DISC TYPE
BTH 16-20 CH 18 16 20 18 16 66 40 51 5, TD 50-8-16-180
BTH 16-25 CH 18 6 25 | 18 | 16 | 66 L 40 | 51 5 | 1D63-12-16-236
BTH 20-20 CH 18 20 20 | 18 | 16 @ 76 | 425 60 5
BTH 20-25 CH 18 20 | 25 18 | 16 | 76 425 60 5 D 50.8.20.200
BTH 20-32 CH 18 20 32 | 18 | 16 @ 76 | 425 60 5 TD 63-8-20-220
TD 80-12-20-286
BTH 20-25 CH 25 20 | 25 25 | 16 | 76 @57 | 60 5
BTH 20-32 CH 25 20 32 | 25 16 76 | 57 | 60 5
BTH 25-32 CH 30 25 | 32 30 | 25 92 60 | 80 5 TD 80-8-25-280
TD 100-8-25-304
BTH 25-40 CH 30 25 | 40 | 30 | 25 92 | 64 80 5 D 100-12.25.350
BTH 25-40 CH 40 25 | 40 | 40 | 25 | 92 | 74 | 80 5 TD 125-12-25-380
BTH 32-40 CH 40 32 | 40 40 | 25 114 | 80 | 95 5 TD 100-8-32-350
TD 125-8-32-380
BTH 32-50 CH 40 32 | 50 40 | 25 114 | 80 | 95 5 TD 125-12-32-436
BTH 40-40 CH 35 40 | 40 | 35 | 25 | 142 | 75 @ 95 5
TD 125-8-40-400
BTH 40-50 CH 35 40 | 50 | 35 | 25 | 142 75 @95 5
BTH 160-60 CH 40 40 | 60 | 40 | 40 | 142 | 85 124 5 TD 160-8-40-480
External Coolant Through Coolant

31 Technical Information



TOOL HOLDERS S@W@@WH

BTH - THROUGH COOLANT

(i (=

Sl ifo

T,

AT IIIIIS SIS SIS

CODE A @B C D E F G H | TOOL DISC TYPE
BTH 16-20 CH 18-TC 16 | 20 18 | 16 66 @ 40 @ 51 5 TD 50-8-16-180
BTH 16-25 CH 18-TC 16 | 25 | 18 | 16 | 66 | 40 | 51 5 TD 63-12-16-236
BTH 20-20 CH 18-TC 20 20 18 @ 16 @ 76 425 60 5
BTH 20-25 CH 18-TC 20 | 25 | 18 | 16 | 76 | 425 60 5 TD 50-8-20-200
BTH 20-32 CH 18-TC 20 32 18 16 76 425 60 5 TD 63-8-20-220
BTH 20-25 CH 25-TC 20 | 25 | 25 | 16 | 76 | 57 | 60 | 5 | 'D 80-12-20-286
BTH 20-32 CH 25-TC 20 32 25 16 76 57 60 5
BTH 25-32 CH 30-TC 25 | 32 | 30 | 25 | 92 | 64 | 80 5 % ?868522_52284
BTH 25-40 CH 30-TC 25 40 30 25 92 64 80 5 D 100-12-25.350
BTH 25-40 CH 40-TC 25 40 40 @ 25 92 74 80 5 TD 125-12-25-380
3} K TD 100-8-32-350
BTH 32-40 CH 40-TC 32 | 40 40 25 114 | 80 @ 95 5 I 108t
BTH 32-50 CH 40-TC 32 50 40 25 114 | 80 @ 95 5 TD 125-12-32-436
BTH 40-40 CH 35-TC 40 | 40 | 35 | 25 | 142 | 75 | 95 5
TD 125-8-40-400
BTH 40-50 CH 35-TC 40 | 50 | 35 | 25 142 75 | 95 5
BTH 160-60 CH 40-TC 40 60 40 40 | 142 85 | 124 5 TD 160-8-40-480
ATH (AXIAL TOOL HOLDER)
CE
B B G
™ T al T
I M= u u
e 1] 7 v 2
D] T
CODE A B C D E F G H J | TOOL DISC TYPE
ATH 16-16 16 | 16 | 32 | 16 | 66 | 37 | 51 | 5 | 16 | 1D 50-8-16-180

TD 63-12-16-236

TD 50-8-20-200
ATH 20-20 20 | 20 40 16 76 45 60 5 | 20 TD 63-8-20-220
TD 80-12-20-286

TD 80.6-25-280.
ATH 25-25 25 | 25 | 50 25 92 55 8 | 5 25 19100825304

TD 125-12-25-380
TD 100-8-32-350

ATH 32-32 32 32 64 25 114 | 65 95 5 32 TD 125-8-32-380
TD 125-12-32-436

ATH 40-40 40 40 80 25 | 142 | 75 95 5 40 TD 125-8-40-400

ATH 160-40 40 40 80 40 142 | 74 124 5 40 TD 160-8-40-480

* Made out of Medium Carbon Steel, Forged & Toughened to 20+2 HRC
* Customised design can be given upon request
* Inch series Axial Tool Holders are also available upon request

Technical Information 32



33

REDUCTION SLEEVES SPHOGRII

FEATURES

e Reduction sleeves are available to mount different sizes of tool shanks in BTH
(Boring Tool Holders).

¢ Availablein Type 1,2 & 3 as our standards.

¢ Type 1to clamp the tools within sleeves for smaller tool shanks.

e Type 2to clamp the tools from BTH itself for smaller boring bars, U-drills & etc.,

e Type 3tohold Morse Taper tool shanks.

e Type 1 & 2 made out of medium carbon steel and toughened to 202 HRC.

e Type 3 made out of medium carbon steel and toughened to 40+2 HRC.

e Customised design can be supplied upon request.

TYPE-1
— —1
) SRR =
Q m
Q
C
D
TYPE-2
ENNEENNEEN
< T
Q m
Q
—
D
TYPE-3
MORSE TAPER (MT)
N
< b . @
Q Tl'l Q
©
D

Technical Information



REDUCTION SLEEVES

FOR BORING TOOL HOLDER (BTH)
OF SLOTTED TOOL DISC ONLY

SUITS FOR SUITS FOR
CODE A B c D | YPE | 1o0L HOLDER TOOL DISC
SM16 2508 25 8 48 51 1
SM16 2510 25 10 48 51 1 TD 50-8-16
SM16 2512 25 12 48 51 2 BTH 16-25 TD 63-8-16
SM16 2516 25 16 | 48 51 % TD 63-12-16
SM16 2520 25 20 48 51 2
SM20 2508 25 8 58 61 1
SM20 2510 25 10 58 61 1
SM20 2512 25 12 58 61 2
SM20 2516 25 16 58 61 2 BTH 20-25
SM20 2520 25 20 58 61 2 D 50.6.20
SM20 25MT1 25 | MT1 | 58 61 3 T e
SM20 3208 32 8 58 61 1 TD 80-12-20
SM20 3210 32 10 58 61 1
SM20 3212 32 12 58 61 1
SM20 3216 32 16 58 61 2
SM20 3220 32 20 58 61 2 BTH 20-32
SM20 3225 32 25 58 61 2
SM20 32MT1 32 | MT1 | 57 60 3
SM20 32MT2 32 | MT2 | 70 73 3
SM25 3208 32 8 78 81 1
SM25 3210 32 10 78 81 1
SM25 3212 32 12 78 81 1
SM25 3216 32 16 78 81 2
SM25 3220 32 20 78 81 2 BTH 25-32
SM25 3225 32 25 78 81 2
SM25 32MT1 32 | MT1 | 77 80 3
SM25 32MT2 32 MT2 78 81 3 TD 80-8-25
SM25 4008 40 8 78 81 1 TD 100-8-25
SM25 4010 40 10 78 81 1 TD 100-12-25
SM25 4012 40 | 12 | 78 | 81 1 Vb eI 72
SM25 4016 40 16 78 81 1
SM25 4020 40 20 78 81 2
SM25 4025 40 25 78 81 2 BTH 25-40
SM25 4032 40 32 78 81 2
SM25 40MT1 40 | MT1 | 78 81 3
SM25 40MT2 40 | MT2 | 78 81 3
SM25 40MT3 40 | MT3 | 79 92 3
SM32 4008 40 8 93 9 1
SM32/40 4010 40 10 93 % 1
SM32/40 4012 40 12 93 9 1
SM32/40 4016 40 16 93 9% 1
SM32/40 4020 40 20 93 9 1 BTH 32-40
SM32/40 4025 40 25 93 9% 2 BTH 40-40
SM32/40 4032 40 32 93 9% 2
SM32/40 40MT1 40 | MT1 | 80 83 3 TD 100-8-32
SM32/40 40MT2 40 | MT2 | 80 83 3 TD 125-8-32
SM32/40 40MT3 40 | MT3 | 79 92 3 TD 125-12-32
SM32/40 5016 50 16 93 9 1 e
SM32/40 5020 50 20 93 9 1
SM32/40 5025 50 25 93 9 2
SM32/40 5032 50 32 93 9% 2 BTH 32-50
SM32/40 5040 50 40 93 9 2 BTH 40-50
SM32/40 50MT2 50 | MT2 | 89 92 3
SM32/40 50MT3 50 | MT3 | 89 92 3
SM32/40 50MT4 50 | MT4 | 92 | 115 3

* Inch series sleeves are available upon request.

Technical Information 34



CUSTOM DESIGNED TOOL DISCS & TOOL HOLDERS

SIPRIQOORIT

Drecision Asutze

Sphoorti Machine Tools Pvt. Ltd.
# 18, Plot No. 467 - 469, 12th Cross, IV Phase
Peenya Industrial Area, Bangalore - 560 058. INDIA. o
Ph. : +91 80 4127 2768, Fax : +91 80 4117 1589
E-mail : info@sphoorti.com 3
URL : http://www.sphoorti.com



